1 If you want to compare the price of wheat over a period, which index will

you use ?
(A) Volume Index (B) Aggregate Index
(C) Both (A) and (B) (D) Price Index
HT AT N & qed B TG B A JAT B ARG & q, BeAA gEHEG B G A/ 2
(A) oI EE (B) W& quwin
(C) (A) 7 (B) gmi (D) T o=

2 is outgoing e-mail server.
(A) POP (B) POP3
(C) SMTP (D) PPP
_ oTSTEN 9w 9eT ¥
(A) POP (B) POP3
(C) SMTP (D) PPP

3 The fourth moment about the mean is used to measure :

(A) Mean (B) Variance

(C) Skewness (D) Kurtosis .

ey & WY giad @ weEar B AT W W WEHA ¢
(A) wre (B) faes

(C) Forawan (D) ygsinie

4 Infant Mortality Rate per 1000 population in Rajasthan as per Economic Review
2017-18, in the year 2016 has been

(A) 41 (B) 34
(C) 30 (D) 20
anfie when 2017-18 % srga firy gogeR, Wit sw offee W=y, 2016 & fee <@
(A) 41 (B) 34
(C) 30 (D) 20

37] e 3 [PTO.



Any statistical measure computed from population data is known as

(A) Statistic (B) Parameter

(C) Standard error (D) Sampling frame
W ®E W Wimw W9, 9O §99 9T S fear W ¥, 99 9
HEATT & |

(A) wfgests (B) wraw

(C) wwer faww (D) witems @ian

Which MS Word feature enables to enlarge a letter at the beginning of a text block
to two or more lines ?

(A) Word art (B) Drop cap
(C) Foot-notes (D) Tab stop

Uh TR WE B BT W A U1 TR AR oOF, UH 62t B e B B 60
T oUE € ¥ B W wEy 9uge ¥ 7

(A) =8 ame (B) M9 ¥y
(C) Hz e (D) 2§ wm

The full form of NITI Aayog is

(A) National Institution for Technical India
(B) National Institution for Transforming India
(C) Novel Institution for Transforming India
(D) Novel Institution for Talent India

ity s & owteg w9 ¥

(A) TG WG d we

(B) T Wrd uitads g

(C) @9 wna uiEds g

(D) a7 9ra giar wwen

37] wia 4 [PT.O.
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How many perfect squares numbers are there between 120 and 300 ?

(A) 6 ' (B) 7
(C) 8 (D) 9
120 o 300 % 49 P& fHe g o dE@nd ¥ 7
(A) 6 ®B) 7
©) 8 D) 9

Mother wants to divide ¥ 2492 between her daughters Sunanda and Girija in the
ratio of their ages. If ages of Girija is 16 years and age of Sunanda is 12 years,
then Sunanda will get

(A) T 1424 (B) T 978

(C) T 1068 (D) T 1384

|, dfedr g=r o fiften & T 2492, o9t og & oru # st wwa & | 3y fifen
H oo 16 99 @ g @ oy 12 o ¥, 99 g we sen -

(A) T 1424 (B) % 978

(C) T 1068 (D) ¥ 1384

District in Rajasthan, which has its Headquarter’s name different from the district’s
name itself is -

(A) Rajsamand (B) Pratapgarh

(C) Pali (D) Dungarpur

TR § a8 e fres gemem @ o ow e ® m @ e ¥ -
(A) ToTEe= (B) wame

) (D) Y

The monopolistic firm will be in equilibrium where
(A) Price = Marginal cost

(B) Marginal revenue = Marginal cost

(C) MR = MC = Price

(D) Marginal cost = Total cost

TS B gged ¥ e ¥, wa

(A) ¥/ = ¥ @ra

(B) @M #vM = €M @rd

(C) drr=1 e = dwra &P = e

(D) ¥ @FE = FW @rE

37] whu 5 [PT.O.
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test 1s satisfied both by Fisher's and Kelly's formula to calculate index

numbers.
(A) Factor reversal (B) Factor
(C) Reversal (D) Reversal factor
wam a1 Fisher's ofw Kelly's ¥ fed quele 3@ =@ & = g%
F@r ¥ |
(A) @& Tohrgdr (B) @=
(C) Serrgar (D) el d&™

What is the theme of world Water Day 2018 ?

(A) Waste Water (B) Water and Jobs

(C) Nature for Water (D) Water and Sustainable Development
2018 % W@ feew & O w R7

(A) I FRX (B) arY ds Wi

(C) =at BT aARY (D) =R Us GRUSH TaweEc

"A sampling is said to be good if all possible sample having equal chance to select.”
It was said by :

(A) Simpson (B) Croxten and Cowden
(C) Karl Pearson (D) Fisher

‘U YRrEa oS G4 FBT AN T4 &S g ufeel ¥ g8 98 B v sme
O g% wET a

(A) Tomgs (B) ®ieaes Ud FoeT
(C) = e (D) fpsx

Van Vihar sanctuary is in

(A) Bhartpur (B) Dholpur

(C) Kota ; (D) Sawai Madhopur
TH-fEer et

(A) W@ (B) gy

©) #r (D) waré A

37] wm 6 [P.T.O.
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Which tool helps better for what if analysis in MS Excel ?

(A) Track Change (B) Formula Auditing

(C) Goal Seek (D) Pivot Table

T UY UEEW ¥ S 3% UM % e SNE I 9T WeR s gmar ¥ 7
(A) ¥ ¥ (B) wifem sifefem

(C) e de (D) umER Ew

Infant mortality rate (IMR) per 1000 live birth in 2016 in Rajasthan is

(A) 41 (B) 34
(C) 36 (D) 44
oA #2016 ¥ firy gg = (IMR) Wiy zwmt fifm sitem @@ ¥
(A) 41 (B) 34
(C) 36 (D) 44

The oligopoly model in which the businessman assumes that his competitor’s output
is fixed and he decides how much to produce is

(A) Cournot model (B) Chamberlin model
(C) Bertrand model (D) Stackelberg model

FFAIBTY HiEw foay =Eaarl 9% Hear € 6 sas uftedl & saed flax € oqur 9w
qg BT ¢ 5 Feo saew fear W, 9% Wiew ®

(A) AT @rEw (B) wratfe wiew
(C) =zfe === (D) ®wwat HEw

Where a blind folded selection has been made from the number of slips based on
the requirements, it is called as method of random sampling.

(A) Sequential list (B) Grid system
(C) Random number (D) Lottery

wE JfE ¥ HH qga @ UG F ¥ omavged & HgA 99 Rear o ¥, 9 @
fafr wer o ¥

(A) w9EE b (B) fire woreh
(C) ¥ gem (D) @t

37] whm 7 [PTO.
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The known variable in a regression equation is called as variable.
(A) Independent (B) Dependent

(C) Attributes (D) Active

YA FHET H OTE A0 @ W HEd & |

(A) @@y (B) ot

C) (D) ufea

If the price level in current year increases by 20% compared to base year. then

purchasing power of rupee will be
(A) 83 paise (B) 120 paise
(C) 80 paise (D) 20 paise

M T WX AR a9 B e A, g o ¥ 20% ¥ wear € oo w9d = ww o
e

(A) 83 && (B) 120 ¥&
(C) 80 ¥ (D) 20 &

Which method of income measurement is used for construction sector in India ?

(A) Product method (B) Expenditure method

(C) Income method (D) Product and Income method both
aA U I fom A TS Rfuar i em 3 & =8 & 7
(A) war fafa (B) =g fafu

(C) oma fafy (D) waw T o fafy 2=

Lacchiram initiated which style of Khyal tradition in Rajasthan ?

(A) Shekhawati Khyal (B) Jaipuri Khyal

(C) Kuchamani Khyal (D) Turra Kalangi Khyal
o # wem I fhe @ wada Rewr mar ¢

(A) framEd & (B) gl wm

(C) Fam @ (D) Tt Hh

37] whu 8 [PTO.
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The mean of a table is 20 and standard deviation is 5, then its coefficient of
variation is :

(A) 20% B) 2%

(C) 25% (D) 5%
it | w1 W 20 ¥ oo v REew 5 ¥ O Swe e Rree i g6
(A) 20% (B) 2%
(C) 25% (D) 5%

is a sequential list of questions which is used by the researcher himself
to collect the data from the field.

(A) Observation (B) Interview
(C) Questionnaire (D) Schedule
gedt @ O g ¥ fawer wEm eERmeal T & H Wl fean
S0 '
(A) ST (B) waesIL
(C) weTaa (D) o
When mean of a group is 79 and variance is 64, C.V. =
(A) 23.43% : (B) 81.01%
(C) 10.12% (D) 64.92%
e G e 79 ST WEIW 64 B, a9 WU Ui BT
(A) 23.43% (B) 81.01%
(C) 10.12% (D) 64.92%

The main aim of ‘DWCRA’ project was the development of
(A) women of urban areas

(B) women of rural areas

(C) women of rural and urban areas

(D) women and children of rural areas

‘DWCRA’ T 1 &1 q&4 Tged &1 ¢ 7

(A) gEdy mfeametl & fawm & g

(B) urfior wfeamstl & foema & e

(C) s=d 3 7 wfewed & R & ae

(D) ardior wfeene @ we % Rww @ g

37] 9 [ P.T.O.
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28 Who is called the father of Rajasthan History ?
(A) G N. Sharma (B) Shyamal Das
(C) G H. Ojha (D) Col. Tod
TR 3E™ & wae fed wEr wmr &7
(A) sit. T3 e (B) sameE
(C) =t wa. afmm (D) &tw ==

29 Out of the following precision in sampling is not dependent upon :
(A) Size of Sample (B) Method of Estimate
(C) Method of Sampling (D) Mean of Sample
yforel sremEs a1 ST ¥ gEE T ¥ Reed T8 @ wwar &7
(A) wfeast et (B) amwaw fafy
(C) wirags fafy (D) wftast &1 =mem

30 As the period of moving average increases in time series, then
(A) Closer will be the trend curve to the original curve
(B) Farther will be the trend curve from the original curve
(C) Trend curve will coincide with the original curve

(D) The gap between the trend curve and original curve will remain constant

wA AN F @ e B ooty SNy ged W &, A
(A) It am, g0 o% & Ta & aifte ToEe e
(B) wgfa =%, 7@ @ @ va & eftm g @

(C) vagfa ow, g =% § Tofed & s

(D) wgfa 9% o1 99 o% % W & UG RAT W

37] whu 10 [P.T.O.



31 Most of the time series relating to Economic and Business phenomenon uses the

32

33

34

(A) Multiplicative Model
(B) Additive Model

(C) Both Multiplicative and Additive Model

(D) Associative Model

aftrpier e wd omaaiys & el TgE e ¥

(A) s st

(B) drw fast

(C) s wd ag frest i
(D) wwewd wiEw

Which famous saint of Rajasthan is associated with Katariyasar in Bikaner ?

(A) Haridas (B) Siddha Jasnath
(C) Jambhoji (D) Dariyavji

T % B § e ¥a SeHT § sanaet ¥ wdta § 7
(A) shEm (B) fag wwmg

(C) i (D) =fraresh

What is 'Annapurna Bhandar' with reference to Rajasthan ?

(A) Fair Price Shop (B)
(C) Grain storage (D)
T & §2d ¥ ‘F=qul wver @ ¥ 7
(A) sfaa g g&M (B)
(C) ¥=1 WX (D)

The value of 2.3+2.3 +2.3+2.3 is

(A) 0 (B)
(C) 1.26 (D)
23+23+23+23 WA ¥ -

(A) 0 (B)
(C) 1.26 (D)

37] wfm 11

Equal Price shop
Free Food for BPL

A Yl @ FEE
BPL et & fou gwr @m0

9.2

1.26

9.2
1.26
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35 Who was the Agent to Governor General in Rajputana at the time of Revolt

of 1857 2

(A) George Lawrence (B) Henry Lawrence
(C) Iltudus Thomas Prichard (D) Charles Metcalf
1857 @1 wild & §9a sl g MEHY W@ 3T TG #4417
(A) = @eH (B) #0 w@iew

(C) 3gee omw forard (D) = AP

36 The compound interest on a certain amount for 3 years at 10% per annum is
< 331, then simple interest on the same amount for the same time and at the same
rate will be

(A) T 200 (B) % 250 !
(€) 7 300 D) T 350

Aty fdt TR T 10% =ffs o & 3 avf & fo emgfs = T 331 @ @ ok b
T GNE W99 & [0 9T §HM 3 U 99 S BN

(A) % 200 (B) T 250
(C) X 300 (D) T 350

37 Motilal Tejawat was prominent leader of the :

(A) Farmers Movement (B) Labourers Movement
(C) Bhil Movement (D) Students Movement
| A ISET waitae 9rg Aar 9 W ¥
' (A) fam it (B) oy et
(C) ¥ otigres - (D) wm orEEE

38 Sampling is the only option in the following situation :
(A) A life of a bulb
(B) Blood test of a person . !
(C) Knowledge of complete population
(D) To find the mean of population
gl & Rk us ol ¥, F Rafy ¥
(A) s s @ fieh o
(B) & =fed & @A @ Wi H
€) T T A qoi s
(D) s w1 e e o

37] whm 12 [PT.O.



39 Highest peak of Aravalli range is —
(A) Ser (B) Nag Pahar.
(C) Guru Shikhar (D) Achalgarh
I B IR @ ¥ -
(A) & (B) = W

(C) TeidrEt (D) F=eTe

40 The correct measure of economic growth is
(A) persistent increase in real per capita income
(B) increase in gross domestic product at current prices
(C) increase in gross domestic product at constant prices
(D) increase in employment opportunity

afis wfs & @A WM ¥

(A) =rafas wfa =ofem oma A @ad gfs
(B) =W @Hdl T WHW HY AR W ghe
(C) Rex Fmal o d&d o SO § Jhg
(D) Tt w9t ¥ ghe

41 Which is not the correct cell reference ?

(A) R[-2]C (B) $D17
(C) R5G7 (D) $GS8
wrEl e AW THew T ¥ 7

(A) R[-2]C (B) $D17
(C) R5G7 (D) $GS8

37] + 13 [P.T.O.
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The product of 2% of a number and 5% of the same number is 152.1 then what
is one third of that number ?

(A) 120 (B) 130
(C) 360 (D) 390

et wem & 2% aur I @En F 5% # PEea 152.1 ¥ 79 39 e & @ e
wE?

(A) 120 (B) 130
(C) 360 (D) 390

Which one of the following is not a characteristic of an ideal Average ?

(A) Easy (B) Rigid

(C) No bias (D) More time consuming
frafafes & ¥ @mar smasl W & wwe T ¥ 7

(A) @ (B) fax

(C) Fw (D) wOwET wHg WA A

'Kuvalaymala' is written by whom ?

(A) Chandbardaj (B) Haribhadra Suri
(€) Udyotan Suri (D) G. H. Ojha
Faagaren feed gra fad ¥ 7

(A) w=ETT (B) wfowm Y

(C) wma" gft (D) . wa. s

The replacement level of total fertility rate for India is

(A) 1.0 - qBy 24
(€) 25 (D) 0 |
d & U F@ ST W S TTeNRT Wl & |
(A) 1.0 (B) 2.1
(©) 25 (D) 0
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Which of the following district is awarded with e-Gov Rajasthan Award 2016-17 ?

(A) Nagaur (B) Ganganagar

(C) Jaipur (D) Ajmer

fer & 4 f5g A9 # e-Gov Rajasthan J&@R 2016-17 e & 7
(A) =i (B) TR

(C) AR (D) e

What is the minimum number of series required to calculate partial correlation ?

A) 1 B) 2
©) 3 D) 4
i GEdEy & qEA T & U A R w6 wrenell @ eiaygdal gl ¥ 7
(A) 1 (B) 2
©) 3 D) 4

Regional or Geographic data may be best represented by

(A) Pictograms (B) Carto grams

(C) Gantt charts (D) Zeé chart

wefie a1 drifes el F ye F R ofts Swgm € ¥
(A) Tes-—w@ (B) wmfas

(©) = fa= (D) st et

Which cities of Rajasthan are famous for the art of ‘Koftgiri’ ?

(A) Bikaner and Jodhpur (B) Kota and Bundi

(C) Alwar and Jaipur (D) Jhalarapatan and Baran
™ ¥ BT F W & Mo e-d el e ¥ 7

(A) qHMT Td Syl (B) & T TR

(C) owEx wd WAyt (D) wweEeT T A

37] whu 15 [ P.T.O.
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33

Which feature automatically recalculate the whole worksheet if any change is made
in a single cell ?

(A) Formatting (B) Auto-calculation

(C) Auto-correct (D) Function

TH ¥ H FE @O BW W B W B @@ A QW TH M ¥ gEvE #
war ¥ 7

(A) wroafen ' (B) 3t Hepase

(C) @ siae (D) w#H

has 255.255.0.0 default subnet mask.
(A) Class B (B) Class A

(C) Class D (D) Class C
H 255.255.0.0 e wEe e E

(A) Class B (B) Class A

(C) Class D i) (D) Class C

Which of the following lakes in Rajasthan is not a fresh and sweet water lake ?

(A) Kolavat lake (B) Chhapartaal lake
(C) Panchpadra lake (D) Jawai lake
Frafafas fal & @ G W@ NS T B WA T E P
(A) wrEmaa o (B) ®mta s
(C) wawewr dm (D) vt e

Which of the following combinations is NOT correct ?

(A) RUDA agency to promote urban non-farm sector in State

(B) RIICO an apex organisation for growth of industrialization in the state
(C) RAIJSICO agency to provide assistance to small scale industries in marketing
(D) RFC agency to provide financial assistance to indsutries upto ¥ 20 crores
i e A A e 4

(A) ®=1 T 98 N-F & & qaqu B w1

(B) Tt T H aiErie % G &1 gared §ee

(C) T @ Y9 & SEr @ R ¥ wEgar e T 9w et

(D) smrusd. TEe & T 20 BT 9% & A6 GEhar YaE S gl ol

37] whu 16 [PT.O.
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The National Income estimation in India js the responsibility of which of the

following ?

(A) NSSO : (B) CSO

(C) Finance Ministry (D) National Income Committee
N W U o w1 omwed, B d @ fred Rt b7

(A) U7 TETE o (B) i uw o

(C) fm v (D) T o iy

Which folk instrument of Rajasthan is also known as the Jew’s Harp ?

(A) Khartaal _ (B) Morchang
(C) Ravan Hatha (D) Kamaicha
TS % 58 i o & w5 o & w8 W &2
(A) Gz (B) = =
(C) e ey (D) =¥

Which of the following movie has won best picture in Oscar-2018 ?

(A) Ready player one (B) A quiet place

(C) The shape of water (D) The Ritual
ﬁwﬂﬁﬁﬁaﬂmmﬁzolsmm‘mw‘ﬁwﬁm’ﬁﬁﬁm ?
(A) @ wur (B) © wmz @

(C) = 9 HE Frey (D) =z frgsm

What was the total road length in Rajasthan upto March 2017 ?

(A) 2.26,853.86 km (B) 1,55,972.56 km
(C) 30.313.23 km (D) 1,76.481.99 km
mﬁzowaa;rmmﬁwa%gﬁrﬁaéﬁm df ?

(A) 2.26,853.86 fdy (B) 1,55,972.56 fedy
(C) 30,313.23 fpd (D) 1,76.481.99 fash

37] 17

[PT.O.
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In 2011 the percentage of Rural population in Rajasthan was

(A) 70.2 ®B) 75.1
(C) 64.4 (D) 81.9
af 2011 ¥ Towgw # Ao SEEEN w1 Wk ar -
(A) 70.2 ®B) 75.1
(C) 64.4 (D) 81.9

In time series seasonal variation can occur within a period of

(A) one year (B) three years

(C) four years : (D) ten years

FE ol A Hed e # oy % ofarid SO ® FHa ¢
(A) ws o (B) &= =

(C) ¥} o9 | (D) =@ 99

According to Economic 'Réifiew, 2017-18, the contribution of agriculture in Gross
State Domestic Product of Rajasthan at constant 2011-12 prices in 2016-17 was

(A) 31 percent (B) 43 percent
(C) 25 percent 3L (D) 16 percent

e wdiEr 2017-18 % @ 2016-17 ¥ Towaw @ 2011-12 &t ferx Bl 9T
qHE U0 U SAE ¥ PN @ qEH o

(A) 31 wiasa (B) 43 wfs
(C) 25 whwea o (D) 16 whww

Which soil are known by the names of usar, reh, alkaline etc ?

(A) Brown soil ' (B) Red soil

(C) Salty/Saline soil (D) Alluvial soil
mﬁ@ﬁw,ﬁ,mm%mﬁﬁmm% ?
(A) i P (B) wm firedt

(C) wavia frgd (D) wwis Rzt




62 The total number of children born or likely to be born to a woman in her lifetime,
if she were subject to the prevailing rate of age specific fertility in the population,

is known as -
(A) Birth Rate (B) Total Fertility Rate
(C) Reproduction Rate (D) Maternal Reproduction Rate

@w&w%%ﬁmﬁﬁﬁmgmﬁmmﬁaﬁﬁaﬂm,mﬂw&mm !
¥ o faftre sdn @ wefm o F o A b meed & }
(A) w9 =TT (B) & sdwam = L
(C) W= 3T (D) =@ =9 7%

63 Reserve Bank of India was established on

(A) 15t April, 1935 (B) 12 July, 1982
(C) 28 May. 1963 (D) 15t May, 1930
ftod ¥5 e sfewr & wiow @ s

(A) 1% a%=, 1935 (B) 12 @, 1982
(C) 28 =, 1963 (D) 1t 7, 1930

64 The number of deaths under one year of age, per 1000 live births. occurring in
a given geographical area, during a given vear, is known as -

(A) Death Rate (B) Birth Rate
(C) Maternal Mortality Rate (D) Infant Mortality Rate

w%&g%ﬁm@aﬁ,@aﬁﬁ,wﬁrlooommﬁmlﬁﬂﬁ@a&m
saémagﬁmﬂqﬁwﬁﬁa%mﬁ,mﬁiﬂ

(A) 39 = (B) w9 =

(©) " 59 (D) frg 9 =%

37] whe 19 [PT.O.
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_____ and South Korea kicked off the annual military exercise 'Foal Eagle drill'.

(A) China _ (B) USA
(C) India (D) Russia
T = B ¥ affs & swm ww fw fE qu fea |
(A) 9 (B) 3uET
(C) wE (D) W

Lakdawala formula is related to

(A) Poverty Line (B) Literary Rate

(C) Health and Nutrition (D) Human Development Report
FHETETE HrE e ¥

(A) & T (B) wmEtal &

(C) @mem g umu (D) wrE fyera wiade

By default, text data is aligned in a cell.

(A) left (B) right

(C) center (D) justify
qﬁﬁ%ﬁﬁmmaﬁ%mﬂmﬁm% |
(A) W% (B) &2

(€) ¥ (D) TR

Who received the 'International Colonel James Tod Awards 2018 from Maharana
Mewar Cheritable Foundation, Udaipur ?

(A) Mr. Jadav Malai Payeng (B) Dr. Tessy Thomas

(C) Prof. John Stratton Hawley (D) Dr. E. Sreedharan

e e ARCAW HERYH, ST &0 dHw o 2 g 2018 few W g !
(A) T wEE Hems o (B) =i =& umg

(C) o & ®eA T (D) #. & fuE

37] 20 [PT.O.




69 If coefficient of correlation 7' is positive between the two variables (x and ¥),

70

71

72

we may say that :

(A) Both the variables (x and y) moves in opposite direction

(B) If x variable increases, y also increases

(C) if x variable decreases, y also decreases

(D) Both (B) and (C)

A x ol y ¥ wewmY i wNeE o §, @ oW wE gEd Ry o
(A) Tl x ot y Ryl R & ofiefis o) &

(B) ot x mgar &, O y o gmar ¥

(C) T xFT S &, & y ot =9 g 2

(D) =t (B) 7 (C)

Which of the following measures of money supply is known as 'Broad money' ?

(A) M, (B) M,
(C) M, (D) M,
Frr & & a9 & 90 of % a9 % amw g we o &2
(A) M, (B) M,
(C) M; (D) M,

Which district of Shekhawati Region do not have any river ?

(A) Jhunjhunu (B) Churu

(C) Sikar (D) Northern part of Nagaur
TEErd W % BN B ¥ ad N uy o &

(A) ¥91 (B) g&

(C) dax (D) -riR &1 Swh wm

Bilateral monopoly means
(A) Two Sellers and two buyers (B) Two Sellers and Single buyer

(C) Single Seller and Single buyer (D) Single Seller and two buyers
feweia wwifre & amd ¥

(A) @ b 7 & WHan
(C) wa fadbar ¥ ws e

(B) & fehar 7 s Far
(D) ws foram @ & &an

37] whm 21 [PTO.
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If the plotted points lie on a straight line parallel to the X-axis of a scatter diagram,
it shows :

(A) Perfect positive cotrelation (B) Perfect negative correlation
(C) Absence of correlation (D) Curvilinear correlation

mmﬂmwﬁgﬁmxmﬁmmwﬂm
gotar & 1 |

(A) g v FEEEY (B) ot TomerE Hewad

(C) wegwy & AN (D) % @9 TEEad

In a time series Regression Equation
y=a+bx;aiste1‘medas

(A) y-intercept (B) x-intercept
(C) Slope (D) Trend

uF ww Iy g ¥

y=a+ bx ; W a®E ?

(A) y-SFEUEA ' (B) x-FEUET
(C) e (D) W

As a result of increase in the price of good X, whose demand is inelastic, the total
expenditure of the consumers of good X, will

(A) become zero (B) not change
(C) decrease (D) increase

aﬁX,Wma@am%,ﬁmﬁqﬁg%mm,ﬁxﬁmmaﬁw
LAl R

(A) 93 B (B) uwfafaa & €M
(C) =zm (D) =&

37] = 22 [PTO.



76  Which National week was celebrated during 23t April to 30t April 2018 ?
(A) 2™ National Swacchata Abhiyan
(B) 29" National Road Safety Week
(C) 26'™ National Fire Safety Week
(D) 20 National Women Safety Week
23 e § 30 e, 2018 & @ W UL GAE FART @ 7
(A) 2 i e s
(B) 294t v =rt geam wae
(C) 2691 s s g @
(D) 204t < =fker grar wwme

77 The average of 40 numbers is zero. Out of these the maximum number of positive

numbers may be

(A) 39 B) 20

©) 1 oy o
40ﬁweﬁmmmqw%1wﬂwﬁwﬁﬁaﬁmmﬁm%—
(A) 39 (B) 20

€ 1 (D) o

78 Which of the following banks launched country's is 1 integrated lifestyle and

banking digital service platform named YONO (You Only Need One) ?

(A) SBI (B) IDBI

(C) PNB (D) BOB
ﬁwﬁ%ﬁmﬁﬁ&wam%ﬁw%a%%ﬁmﬁﬁ@eﬁﬁ%
) gE e ¥ 7

(A) SBI (B) IDBI

(C) PNB (D) BOB

37] e 23 [P.T.O.
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79  Which of the following is mot a function of Directorate of Statistics and Economics,
Rajasthan ?

(A) Coordination of statistical activities of various departments

(B) Promote duplication in collection and compilation of data

(C) Adopt accepted standards in collection of data

(D) Suggest ways to improve the quality of data
ﬁwﬁﬁaﬁﬂm,aﬁﬁﬁ@mﬁﬂaﬁﬁ&m,mmmﬂﬁ% ?
(A) R R @ i A ¥ FE

(B) sitpet % wwEw Td W A P

(C) iwel & dwew § WG AR H A

(D) sifwel @ U § gUT % gAE

80 Fisher's index number does not satisfy

(A) unit test (B) time reversal test
(C) circular test (D) factor reversal test
fpsT @1 GAHE TG T B ©

(A) TFR WG (B) w5 — Jeradn =
(C) = Wi (D) da-Teargdl W

81 If there are 'm' chances of occurring an event and 'n' chances of not occurring,
then the probability of occurrence of that event equal to

A m m
) n | B o —n
e e
{ } m+n ( ) m-n

u&ﬁ?{i‘rm%&ﬁ%%'m‘?ﬂ%aﬂtﬂﬁ%%ww% | & 3§ 9o & gfed g
# Wirear w1 ERN 7

T m 5 m
(A) m+n (B) m-—n
ey — Tp) - o
©) m+n (B m—n

37] = 24 [PTO.




82 The value of Fisher Index Number s -

Price base year IS SO, 1 A
Quantity base year : 50 15 20 10 40
Price current year : 20 6 2 -
Quantity current year: 60 10 25 & 30
(A) 240 (B) 266.7
(C) 280 (D) 275
et & quwis @ 7w &

MR T @ AW : 8 2 1 2
ST A B AN : S0 1S 20 10 40
vt s # B : 20 6 2 5 5 |
v A A 60 10 25 8 30
(A) 240 (B) 266.7
(C) 280 (D) 275

83 In Rajasthan Atomic Power Project is located at

(A) Rawat Bhata (B) Barsinghsar
(C) Jahajpur (D) Palana
oA § qEn] Sol ofdier w ux Rag &7

(A) TaEa st (B) =iy
(C) ey (D) w&r

84 The installed capacity of power in Rajasthan as on December 2017 was

(A) 10102.00 MW (B) 19536.77 MW
(C) 25325.11 MW (D) 50412.77 MW
T ¥ feawy, 2017 7% F@t B ofreme amar 6

(A) 10102.00 #rare (B) 19536.77 ¥marz
(C) 25325.11 ¥z (D) 50412.77 #mare

37] =i 25 [PT.O.
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85 Which areas of present Rajasthan were known as Jangal Desh during the
Mahabharat age ?

(A) Udaipur - Dungarpur (B) Bikaner - Jodhpur

(C) Banswara - Pratapgarh (D) Alwar - Bharatpur

T TR B N ¥ 8 WEMRE FW ¥ Wiw A9 ¥ W § wW AW A7
(A) SEOR - YT (B) d@ET - SHEYT

(C) wigarEe - JAwTe (D) @AY — WA@Y

86 Seasonal variation Indice is equal to

(A) (General Average + Seasonal Average) * 100
(B) (General Average * Seasonal Average ) x 100
(C) (Seasonal Average + General Average) x 100
(D) ‘(Seasonal Average + General Average) x 100
s foreer qua® % qUET B ¥

(A) (wmrg W + wgenes ") x 100

(B) (wmrg wrem x Fgwnes Ared) < 100

(C) (wgmies @A + gErg #ed) x 100

(D) (wgeitee wrea + grara wrem) x 100

87 Singer Allahjillai Bai of Bikaner was famous for singing raga :

(A) Basanti (B) Jaijaivanti

(C) Malhar (D) Maand

St F mim swTERTed W e T T F e wes & 7
(A) wEd (B) e

(C) 5= (D) #mw=

88 According to the Budget 2018-19, the estimated fiscal deficit for the financial year
2018-19 as a percentage of GSDP of Rajasthan is

(A) 6.12 (B) 4.23

(C) 2.98 (D) 3.98
2018-19%3‘@1‘6&1@%&&3&2018-19ﬁwamﬁﬁmﬁﬂmw$
oW o9 UL SR b W % e A ¥

(A) 6.12 (B) 4.23

(C) 2.98 (D) 3.98

37] 26 [P.T.O.




89  The formula of Dorbish and Bowley Index Number s :

A) Y ng / Z Po99 (B) Zpom / 2 P90

© Y 2a /3 pogo {gﬁ:m E;:H

Mﬂwm'ﬂmﬁ?%:

(A) ZPI‘?I / ZPU% (B) ZP{}Q] / ZPIQO

© Xra /Y poao D) ‘H‘zz;;:ﬂ [gf::”

9 Which River is known as 'Dead river' 2

(A) Mahi (B) Chambal
(C) Luni (D) Ghaggar
DR & T A F T ¥ g ?
(A) =y (B) wsw
©) wh (D) gz
91 Recently Government launches UTTAM APP for the purpose to deal with which
one of following ?
(A) Soil quality monitoring (B) Women and child health care
(C) Coal quality monitoring (D) Pension cases
EM“ﬁi¥avmtznr%aqtm’ﬁiﬁmrﬁitﬁm:w%NW%thaﬁrﬁmrmn%'?
(A) FEd e witg (B) #ftw 7 o wmen <evam
(©) s & = g (D) Y wm
37] wha 27

[P.TO.



92

93

94

95

The algebraic sum of the deviations of all the individual scores in a series amounts
to zero, if the deviations are from :

(A) Mode (B) Median

(C) Arithmetic Mean (D) SD

S e % o wHeihl & ¥ faoem @ G dm o= E E
(A) T (B) witaet

(C) wAFX "1™ (D) #we ferae

The method of collecting primary data is :
(A) Indirect Oral Investigation (B) Published Sources

- (©) International Publications (D) Publications of Business Houses

gruftes G9@l & G@uE @ O ¥
(A) v difge AFEaH (B) waifdd =i
(C) st Wl (D) =i densi & uHEe

If Jio invites opinion on its new service through questions on radio and newspaper
and people who respond become a part of sample. Such sampling technique is known
as :

(A) Self-selected sampling (B) Cluster sampling
(C) Area sampling (D) Multistage sampling

mﬁﬁmﬁ%gﬁm%ﬂuﬁﬁﬁ%waﬁ%hmﬁamﬁtﬁ
%W%gﬁﬁmﬂﬁam%,i@wﬁﬂaﬁﬁﬁﬁﬁhﬂ@ﬁ%ﬁ?ﬂwﬁﬁ
=% a9 w9 & | o Preelw fafa & wnowed ¥ 7

(A) @d feffaa Fre= (B) wr frasiH
(C) #w frask (D) wgwly fresh

In Plotting a graph, the independent variable is plotted on :

(A) Abscissa (B) Ordinate

© »'vy (D) g-axis

Yar fom @ fEw e & fiu wd W@ w fafya &@ %
(A) g=mE (B) @ife a1

© y'y (D) a-u&
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96 If two regression lines are as follows the value of X i

X =272+0.64Y
Y =-3040+126Y

(A) 40 (B) 20

© 5 D) 7

uﬁﬁuﬁwmﬁwﬁrﬁﬁ%a’ffﬂqwm: .
X =272+0.64Y i
Y =-30.40+1.26Y i

(A) 40 (B) 20

©) 5 (D) 7

97 Fraction representation of 0.18 is

o R
449 94 (5) 100
o ol o
| © 99 (=) 90
| &
| 0.18 & fr=r feumr & -
Ay A2 s
) 99 (B) 100
gkl By
(©) 99 (D) 90

R T

98  Which of following scheme is announced by Rajasthan Government for economically
Backward classes in budget 2018 ?

(A) Sundar Singh Bhandari Yojana (B) Smart Work Scheme

(C) Sabko Kaam Yojana (D) Swasthya Beema Yojana
ﬁwﬁ%ﬁﬁmwmﬁaﬁmﬁ%ﬁ%ﬁmmzmsﬁ
LU )

(A) g=T Rz wverd g (B) W ak @y

(C) @& ™ g (D) wwe dmr G

37] whu 29 [P.T.O.




99 The given demand curve has

D

Price
w

0 Quantity 3
(A) Infinite slope and zero elasticity
(B) Zero slope and infinite elasticity
(C) Zero slope and unit elasticity

(D) Zero slope and zero elasticity

fm g @ W W

Ev b

O AT

v

(A) T o G @ 9 R

(B) oW g ad1 W I ¥

©) msﬁwﬁam%aﬂﬂ%
(D) @@ @ da #@e A

100 Time series does not relates to
(A) Seasonal variations (B) Secular trends
(C) Cross Sectional variations (D) Cyclical variations
g fagawn feed wEfm @ 7
(A) et famT (B) drmEm faET
(C) e T (D) e faat
37] whu 30 [PT.O.




